

“THE INFINITY-IOTA”

Bharath Aldro Cless Saurabh Kumar

A Pass Out Student Of Mathematics Department, Aki's Poonacollege, Pune University Pune

Abstract: In this paper I am giving a value of “zero upon zero”.

Keywords: Euler's Relation, Iota and the Infinity – Iota.

INTRODUCTION

In this paper I defined the value of the “zero upon zero” by using the Euler's Relations and trigonometry functions.

DERIVATION

Consider the Euler's Relation

$$e^{i\theta} = \cos\theta + i \sin\theta \dots\dots\dots (1)$$

Consider the trigonometry relation

$$\cos^2 \theta + \sin^2 \theta = 1$$

$$\cos^2 \theta = 1 - \sin^2 \theta$$

Divide by $\cos\theta$ in both sides we get as

$$\cos\theta = \frac{1}{\cos\theta} - \frac{\sin^2\theta}{\cos\theta} \dots\dots\dots (2)$$

Now put value of $\cos\theta$ from relation (2) in relation (1)

$$e^{i\theta} = \frac{1}{\cos\theta} - \frac{\sin^2\theta}{\cos\theta} + i \sin\theta$$

$$e^{i\theta} - i \sin\theta = \frac{1}{\cos\theta} - \frac{\sin^2\theta}{\cos\theta}$$

$$e^{i\theta} - i \sin\theta = \sec\theta - \frac{\sin^2\theta}{\cos\theta}$$

Divide by $SIN\theta$ in both sides.

$$\frac{e^{i\theta}}{SIN\theta} - i = \frac{SEC\theta}{SIN\theta} - \frac{SIN\theta}{COS\theta}$$

Let $\theta=0^\circ$

$$\frac{e^{i.0}}{SIN0} - i = \frac{SEC0}{SIN0} - \frac{SIN0}{COS0}$$

$$\frac{1}{0} - i = \frac{1}{0} - \frac{0}{1}$$

$$\frac{1}{0} - i = \frac{1}{0} - 0$$

$$\frac{1}{0} - \frac{1}{0} = i$$

$$\frac{1-1}{0} = i$$

$$\frac{0}{0} = i \dots\dots\dots (3)$$

Relation (3) is result and known as THE INFINITY-IOTA.

REFERENCE

- [1] I used only basic function of trigonometry and The Euler's Relation.